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Question 13/14 (2p)

consider the circuit shown in the figure. What is the maximum
power that can be absorbed by Ry from the circuit?
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Question B/14 (2p)

What Is the value of the current i, In the circuit given below?

nn . a -

38 JE %
O 3¢ ?OWERGUNIT

CamScanner = g d>guaall



Question 2774 s

:m-dnhmllﬂmmﬂ'I*wi wrd e the ¢ omvtr ik tice of e curreni souice YA anly on the valow of e rurres |
L]

kll‘».,ﬂ

Q> P

©

O r»a

O s
LI &= sl E
r ¥ u

CamScanner 2 Ldgo d> guuaall



Question 4/4 (2p)

Find the voltage across the capacitorat t=1s(le, v(1))
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(O) More of the choice

O =008V
) 033V
QO -033
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Question 2/4 (2,

The circult in the hgure will produce

60 0
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() &nundetdamped response
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AR Sverdamped response

| SUBWVIT AMSWENW J

CamScanner = g d>guaall



LU SLINE S (1R

The value of the resistor I is adjusted such that the response is crilically damped Find the
vollage across the capacitoe v(L), for L>D

rfﬂ.‘){

e "2 P ORAC ST T

O v(t) =273 _ pro— 5t . t>0

O None of the choices

O v(t) = =2a7 L gt . t>0

O vit) = —2ta” t>0

O vit)= —2e"%_ Bte” 3

-ta -
- v Ll e =Ry e =
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Question 1/4 (3p)

Find the time constant (in seconds) for the circuit in the figure below
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Question 6/14 (2p)

What is the value of the generaled power by the current source 5 A?

Assume that there is no initial stored energy in the capacitors and
inducion
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Question 5/14 (1p)

Consider the circull shown in The ligure and find the value of the
current | uning mesh analyais
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Question 7/14 2p)

Conalder the circuil shown in the figure. What is the contribution ol
the voltage source 96V only on the value of v ?

O M ZOWERGUNIT
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Question 14/14 (2p)

What is the value of R in the ligure?
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Question 11/14 175

Consider the circuit shown in figure, what is the power absorbed

bty the 100 resistor ?

D seen P OWEROUNIT
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Question 4/14 (2p)

The plol shown In the ligure depicls the current through a 20 mH
inductor. Find the maximum stored energy (in mJ) in the iInductor given
that I (t=- oc }=0 A,

N IA)
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Question 10/14 2p)

Consider the circull shown in the figuee, what is the value of the
voltage ¥y uaing nodal analysia?

O =iy
= 7OWERGUNIT
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Question 2/14 2p)

Consider the circuit shown in the figure and find the contribution of the current source 3A only

CUBYNT ;"|__.|_".E:|
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Question 10/14 1)

Connbdes the circull shown in the ligure, whal 8 the value of the
woltage ¥V, uning nodal anabyuin®?
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() None of the choes
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Question 9/14 1p)

Find the Thevemin squivalent resistance Il,, as seen by an
unapecified element connected between terminals a and b
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Question 12/14 (2p)

Conslider the circuit shown in the figure. After simplifying the
cireuit into one capacitor and one inductor, what are the values of

C.ql"dlﬂ

O Cp1.75F L=0.1H ZOWERG@UNIT

G Ee-:'i:‘EF.Lt:'IH
O cm175F L 1M

D hore of the chowces
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Ouestion 114 25
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In a senes resanant RLEC circwit if the vallange source 15 v Le) = filsin et )V, the maomum value of the

Cutrent Is |1J A and occuwrs al - | [ the @ current at w =Y ST
s WKrad/sis /0V] A
Find the values of L and C. '@@Wé%@'ﬂﬁlﬁh o

O L=03515mH, C=0.254 pF
O L=0704mH, C -0 147uF
O L=02584 mH, C=0.3513 pF
O L=0.142 mH, € - O708pl’

O L=0.142mH, C= 0281 pF

I- Y T L WY Tl o]
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Consider the circuit in the figure and tind i( t ) when R=10 ()

10 con (Wre | v

7 OWERO@UINIT

(1) = 3.841cos(20t — 39.81%) 4+ 0.128cos (50t — 20.199) A

i(t) = 3.841cos(20t + 39.81") + 0.128cos( 50t + 20.199) A

W) = 1.932cos( 201 — 9.4627) — 0 164cos( 50t = 50 547) A
i) = 1.93%cos(201 — 9.4629) + 0.16dcos(H0t — H0.54V) A

O
O
O i) = 3 Steas( 20t = 39.817) — 0.128cos 50t - 20.197) A
O
O
O

i(e) = 4.932cos (200 ¢+ Y G2 ¢ (L 1Gdcos 30t ¢ 505 ' A
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EE213-F... -

Test name: EE213 Midterm_ll

Question 12/14 2p )

7OWERGUNI

Consider the carcmt shown in the figure. What is the contrib

on the value of v 1 ?
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Question 14/14

Consider the circuit shown ?@W@@ Eﬁﬂ@ﬂ absorbed by the 1Q resistor ?
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Find [, when R=10 Q.

1520° 4_

PPEROUNIT

E

6{1

O 1,=586,99.3"A
O 1,=6.5.996"A

O 1, =6.86£99.3" A
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If the equivalent resistor a1 the terminals a-b is 2.5 k0. What 15 the value of the rasistor R in the figure?
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Question 1/15 ¢

Assume that o = L rad/s and R= 5 0 Which of the fallowing nratments ig true?

- :{En e =wm |7 OUYEROURN T

) iit)lags vit1) by 3087
O iltitags (1) by 52207
() Hone of the chaices

O ituylags vit) by J0&"

O (L) |-1|:E vil) hhl T ‘_H_IH
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Vih=4 V. Ryp=1 00
7OWErRO@UNIT
Vin=2 V. Ryy=1 0

Vin=8 V, Ry,=1 00

Vin=2 V. Ryp=2 0

O Q C O O

Vin=BV, Ryp=8 0

‘ SUBMIT ANSWER
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Question 7/15 ;)

Find V it Z.=10+6i0,2, -2 - 0, 2, =540

! z POQUWERG@UINIT
=]

x] .

@ 100£10" v
n ) M

1002—230°v /' 100£-110"v /

}@ @ 2, Jf %z.
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Find the Thévenin equivalent cifcult with respect 1o the terminals a b far the circuit shown Assume
v, = 24V

by
,{P a7 OWERGURIT

-

() V=4V Ryp=1 10
O V=2 V.Ry=10
O Vin=8 V Ry n

D ulh'? 'J_ E"|=E 0
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Derive an expression for i(t) for t > (.

O i(t) =12.5e— 290t

O i(t)=12.5¢"125t y
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Question 12/15

Find an experession far vt ) in the circuit given that 1(0) =1 A, v(]1 =1V

POWERGUNIT

t) —cas —be 4 Nlgin —L_ v
O v I vLIT ) T (WO )

, _p ! ~ ALy L v
C} vit ) = cos ) iad T )
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TTOL AT, LLL 1D VUL [ e el W COITIPIELE e 1851 U N 3Z min. 43 sec.

Question 5/14 (2p)

What is the value of the generated %@@@@WET A?

‘Assume that there is no initial stored energy in the capacitors and inductors.

iH Sk
T [
af
SH 200 it 15 ()
----- AAA —AWA
J._..__.,,-‘]r L] —
200

N C) 3A 5 {1
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FE213-F... =

Test name: EE213 Midterm_li

Time left to com pléteithe test: 0'h 24 min. 32 sec.

| Question 8/14 2o P @W@ R@ NH T

he current through a 20 mH inductor. Find the maximum

The plot shown in the figure depicts
given that I (t=- o¢ )=0 A.

~ stored energy (in mJ) in the inductor

i1 (A)
A
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Question 14/15 1,

Find the equivalent capacitance seen al the terminals of the circuit in the figure

A uF
— @ POWERGUNIT
e T
_.I_:
.E.. TuF — 20uF = 1204uF
o S |
(O 60 pF
O a0yF

() 10pF
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Calculate the resonant frequency of the following cireuit when R« 2 0

L
-
ke < il
ipe -
»

uﬁ"’. o

"= 110.r

7OWERGUNIT

O 1 rad/s

O o oragis
O 32redrs
O 0.5 radss

() DEBradss

- SUBMIT ANSWER
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~ Question 9/14 r\tq. X ‘| I, |‘ | |'\ i || (64
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‘ | I‘ AL
|
If we simplify the cu@ ‘W@ [ NH Follage é.ource V, and one resistor R, then
what are the values of V_ sandR? | | H| | |\| | Iil‘l |
R
[0 | I T A
i ‘ \| ‘ | || ill. byt L
AR il “ | ‘ | | [ ": | l\
i ‘ iy
1. -‘ H|I| 'l. ‘.l 1y
i ‘ - ||‘ |! ] ‘i [
51!1-!\6;:) ' | | I || ‘| o
| | M | i
| : ‘ | || I |
O V.e=-B/7 wolts,R= 4/7 KO L

() None of the choices
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i(t) =12.5e 290t 5
i(t) =12.5e 125t 5
i(t) = ROV R

i(t) =12.5e 40t

O O O O O

i(t) = —12.5e—40tA

I SIIRARMIT ANQWED l

CamScanner = g d>guaall



Consider the circuit in the figure. Let Cy=5F, C;=4F and V=18 cos{wt) volts. Evalunte v.

® nle POWERGUNIT

() Beos{wt)V
(O 27 cos(wt) V
O o

() 12 cos{ut) Vv

() 15cos{wt)V
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i re | il : |
= 11 u !

1

- What is a planar circuit

(1 Point)

Enter your answer

7OWERG@UNIT

Write down Ohm's law
(1 Point)

Enter your answear

s
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The value of 'Vo' due to the AC voltage source

(3 Points)
7OWERAOURNIT

O -2.498 cos(2t - 3079°) -

-----
1

1@ 2.498130.79
() 2.498 cos(5t - 30.79°)
| -2.498130.79

2.488 cos(2t - 30.79%)
2498V

None of these
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Answer the following questions:

Assume a load s disconnectied belween ‘a' and ‘B terminale
-

is] POWEROUNIT

Find the Thevenin's resistance
(1 Point)

Lrnlosr yonan anisasi

The Thevernin's voltage
(2 Points)
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T T T T T T T e e emmma g e R R l-'l-fl-!;l-'l-l“-“jj

| The Thevenin lmpedance L%
| _(3 Points)
- POWERGUNIT
(@ -4.473nL-7.64
() 4473n7.64
(1) 4.473n-7.64
() None of these @

L -4.47367.64

L1 e,
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'
The Thevenin voltage * [E‘n
(3 Points)

POWEROUNIT -

@ -11.763b-729V
C) None of these @
() 117630729V

(®) -11.763n729V

11.7630-729 V
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Q4% (1 points)

Constder Tigure 4 shown

2H
—n

P OWGRQULLT

10 cos 2t V(T

+ Vo -

(}) 2sinstA-

—

The proper method to analyze this cirfuitis [T

(3 Points)
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1: Electrical Circuits. (EE213: Electric Circuits (Summer 2019/2020))

T

|
What is a linear circuit

(1 Point)

RONVGERCUINIAT

Enter your answer

Write down Ohm's law
(1 Point)

Enter your answer
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EE213: Final Exam Summer 2019 (EE213: Electric Circuits (Summer 2019/2020))

* Required

8Q  j4Q

Linked MCQs -
Q4. (6 points) e =) o0
%) | ‘m%_ 8A > o2v,
' | ' —o b

Consider Figure 3 shown -

The Thevenin impedance
(3 Points)
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When we should assume a 1 A current source at the output terminals *

ikl POWERGUNIT

Enter your answer

What will be the shape of the inductor current in an LC circunt *
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Flowe many nodal equations are epuinred o tined all the nodal vollages
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20

The value of 'Vo' due to the DC voltage source |3

(3 Points) |
~ POWEROUNIT:
) 2V i
O v

® 1V

5V

None of these
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|

D a

37 OWERGUNIT

2 B

Tzl=:F

S I”'-r Lh:' l_h‘ll[:i “ﬂj.:l '.JUE___{-‘TL

1=80), R2=4[), R3=50 Vest12' &=

[ Find the Norton resistance

rsleE) 1)
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@ Bij—4ip =17 and — 12 + 3i) = =D

© 5i1+2i2 =12 and - 6iy + Tiy = 25

7 OWERGUINIT

3.For the circuit shown, and based on the superposition principle, the portion of the current i x

under the effect of the 3.5 V voltage source acting alone is: * [}
(2 Points)

O 08A
® o054 N

< 3A

) 0.14 A

© -094
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+
3 Ix Vs2

For the circuit shown in the figure, if R1=1 KQ, R2 =2 KQ, R3=3 KQ, Vs1=5V, Vs2=-11V, find
11 using mesh analysis. [T

P
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Section

N
©
S
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©
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3
A

30Q
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ey L
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W

Write the mech currents in the simplified forms
(3 Points)

e — - R e —————— — = - =

Enter your answer

-
1 -
S et N i S — — — — . — e - i -
- - - - '_I
N |
. S
'r e P |
s & g O, :u-
w T T



e

N VRS e N O W

OV JTLLIWIT o FEIE s

2.Find the mesh current equations for the circuit shown: * [%)

(3 Points)
POV EROUNIT

Q 12i, -2 =12 and —2iy + Tip = —
O 10i; +2i2 = 12 and 2i) —7iz = —14
() 2iy = 12ip =2 and —Tiy +2i2 = 4

() 8iy—4ih =7 and —12i) +3i2 = =5

O S5it +2i =12 and - 6i) +7i2 = -25

3. For the circuit shown, and based on the superposition principle, the portion of the current 1.
under the effect of the 3.5 V voltage source acting alone is: * | |
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@ 0.144

-09A

4.Using the principle of source tranﬁ?ﬁwmm@m egacircuit into a single node circuit
with current source i (with direction from Ui parallel with resistor R and
connected between nodes a and b. Find i and R? * [
(3 Points)

(U i=-6A, R-= 2.1%0.

hl
I

—2A, R=2.182Q
() i=2A. R=21820Q
i==2A. R=1350Q

i=6A.R = 13561

: Tl‘lﬂad-:l'rl I'II" I.I‘-F\illﬁ !-'h e ¥Rl l*
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TeaBIte e 214 =lmrrrir ( y - Z
aidiLie L . SISV A diLe il

Answer the following questions: ® R3

\
= AM o b E
}
i
Take: R1=120), R2=60), R3=150), Vs=18V, Is=3A
Find the Norton resistance
(1 Point)
o - . _ I ll
| Enter your answer 1

The Thevenin voltage
CamScanner = Ligs d>guuaall



How many branches are there
(1 Point)

a ?OWERGUNIT

O 20
O 14

) 18

) None af these
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For the circuit shown in the figure if R1 =8 KQ, R2 =2 KQ, R3=3 K, R4=4 KQ, Vs1=5V, Is1=5
A, 1s2= 10 A. Find the contribution of Is2 only in the value of 1. [
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* Required

o P OWERGUHNIT

Essay Questions (11 points)

What is the purpose of a phasor diagram? * [
(2 Points) -

[
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20 11 A ‘) R

O None of the choices

O 2w W

SUBMIT ANSWER 1
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Answer the following questions

P@W@R@NHT 391;@)

lo
(1 Point)

Enter your answer e ———

e e
e ——

-
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7OWERGUNIT

Find the equivalent resistance between 'c’ and 'f' terminals
(1 Point)
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W (=0A,K = 130032

5.The circuit shown has: * [
(2 Points)

O 4 meshes. | 7OWERG@UNIT
(O 3 meshesand 1 supermesh.

(O 2 meshesand 1 supermesh.

@ > supermeshes and 1 mesh

v

-~

() Cannot be determined
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